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B3 ]G=nx.Graph()
G.add nodes from(range(0,50))

addfedges(G) #add ties based on homophily
for each in G.nodes():
print each,':"',

for eachl in G.neighbors(each):
print eachl,
print '\n'
nx.draw(G) 1
'; plt.show()
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So, now we have a network which is having 50 nodes and which is having homophily
based contexts where every node is connecting to 2 nodes towards its left and 2 nodes

towards its right ok.
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G=nx.Graph()
G.add nodes from(range(0,100))
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add edges(G) #add ties based on homophily
for each in G.nodes():
print each,':",
for eachl in G.neighbors(each):
print eachl,
print '\n'

|
add long link(G)
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Let us take 100 node instead of 50. Next what we want to do is I am going to create a
simple function which is going to create a weak tie. So, when we call this function ones
it creates one weak tie, we are going only to add these weak ties. And we know that this
is very easy, we have done it many times before from going to take a function here let us
say add long link its basically add a long range link in G and it is going to be pretty easy,

isn’t it?

So, we what we have to do? We have to randomly pick 2 nodes in this method and put an

edge between them.
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import matplotlib.pyplot as plt
#yimport random
def add edges(G):
list nodes=G.nodes()
n=G.number of nodes()
print list nodes
for i in range(0,len(list nodes)):
#print list nodes[i], list nodes[i+1],
list nodes[i-1], list nodes[i+2], list nodes[i-2]
G.add edge(list nodes[i], list nodes[i-1])
G.add edge(list nodes[i], list nodes[i-2])
target= i+l
if target>n-1:
target=target-n
| G.add edge(list nodes[i], target)
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So, we can actually import the function random here.
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target=target-n
G.add edge(list nodes[i], target)
else:
G.add edge(list nodes[i],target)
# 1+1/i+2 -> n , we need to set this value to 0
# -> n+l, we need to set them to 1
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def add long link(G):
vl=random. choice(G.nodes())
v2=random. choice(G.nodes())
while(vl==v2):
vl=random.choice(G.nodes())
v2=random. choice(G.nodes())
G.add edge(vl,v2)

1
=4l G=nx . Graph()
Saving file'/home/yayati/ring.py'. Python *  Tab Width:8 + Ln34,Col 25 INS
And then what we have to do is define add long link G. And what we are going to do is
let us take the first vertex it is nothing but random node choice for random element from
the list G dot nodes, and then v 2, it also equal to random node choice G dot nodes. And

now, these two nodes can be same. We are going to put an edge between them only then

these two nodes are different.



So, what I am going to do for that is why v 1 equals to equals to v 2. So, if v by chance v
one become comes equal to v 2 what I am going to do is [ am going to repeat the same
process again till I get to different values for v 1 and v 2. And as soon as I get to different

values for v 1 and v 2, I put an edge between them G dot add edge v 1 comma v 2.

So, when I call this function once add long link it adds two edge it adds one edge

between 2 randomly picked word this is in my network.
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And we just check whether this code running fine or not, there is no error. So, this code

is running fine.



